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1. The table shows the relationship between the number of parents in a 
household and the number of children in the same household.  Is the number of 
children proportional to the number of parents in the household?  Explain why 
or why not.

2. The table below shows the relationship between the number of cars sold and the 
amount of money earned by the car salesperson.  Is the amount of money earned, 
in dollars, proportional to the number of cars sold?  Explain why or why not
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1. The table shows the relationship between the number of parents in a 
household and the number of children in the same household.  Is the number of 
children proportional to the number of parents in the household?  Explain why 
or why not.

No, there is not a proportional relationship because there is no constant such that every 
measure of the number of parents multiplied by the constant would result in the 
corresponding values of the number of children.  When I divide the number of children 
by the corresponding number of parents, I do not get the same quotient every time.  
Therefore, the values of the ratios of children to parents are not equivalent.  They are 3, 
5, 2, and 0.5.

2. The table below shows the relationship between the number of cars sold and the 
amount of money earned by the car salesperson.  Is the amount of money earned, 
in dollars, proportional to the number of cars sold?  Explain why or why not

No, there is no constant such that every measure of the number of cars sold multiplied 
by the constant would result in the corresponding values of the earnings because the 
ratios of money earned to number of cars sold are not equivalent; the values of the 

ratios are 250, 300, 316 ଶ

ଷ
, 269, and 311.


